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18	 Mrs Simpson organised a school trip for 66 children.

	 The total cost of the trip was £1800 
The school paid 56% of the total cost. 
The rest of the total cost was divided equally between the 66 children.

	 Work out how much money each child paid.

£.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 18 is 3 marks)

19	 (a)	 Work out the value of 35 2 1 7
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		  Write down all the numbers on your calculator display. 

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

	 (b)	 Write your answer to part (a) correct to 2 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

(Total for Question 19 is 3 marks)




